HET X MRIBAG[RIERE] ASER
FE - R - BFAR - EWE B HRA 2001 2020%
SREE TRENK BIEEH =B HREE ZREK BIEER (B S
NEEH BRFER 3RBEAR 5 5 4 1.25 — — - —
NFEEB BRFER SN 3 HFE — - — 8 8 4 2.00
XFE ALHEFR 3PEAR 5 5 2 2.50 = = — =
NEE ALHFER S5 3 HRE — — - 10 10 4 2.50
NEH BFER B¥ER 3RBEAR 9 9 7 1.29 — — — —
NEH BER BHFER S 3 A — — — 7 7 3 2.33
NEHB BFER BEFEK IRBEAR 8 8 7 1.14 — — — —
XFE BFH HEFEW X% 3HBE - — - 8 8 3 2.67
NEFE B OEFER 3REAR 11 11 2 5.50 — — — —
NEE  EREROEFR N 3 HRE — - — 9 9 3 3.00
NEH BEFH HAELFEK 3RBEAR 10 10 2 5.00 — — — —
NEHB EBEFH BHEAEFEK N 3 A — - — 9 9 3 3.00
XEE BEFH RIFLFEK 3RBAN 8 8 2 4.00 = = = =
XFE BEFH RFEFHER XHRI3IAPE — — — 10 10 4 2.50
NEH BEFH LABEFFR 3REAR 5 5 2 2.50 — — — —
NEH BEFH (LBEFFR SN 3 HRE — - - 6 6 3 2.00
NEH BEFH XEEFEK IRBEAR 7 7 2 3.50 — — — —
XFE BEFH XGEEFER X3R3IHME — - — 8 8 3 2.67
XEE HAEAARNER 3RBAN 11 11 3 3.67 = = — —
NEEH BHAEAARXER S5 3 HAE — — — 10 10 4 2.50
NEE REBIRAXFR IRBEAR 13 13 10 1.30 — — — —
NHEE REBREAXFR N 3HFE - — — 7 7 3 2.33
REFE 3RBEAR 46 46 16 2.88 — — — —
RHFER SN 3 HRE — — - 24 24 16 1.50
REFE REFR 3RBEAR 37 37 5 7.40 — — — —
REFE REFR SN 3 A — — — 19 19 6 3.17
ERE EEEH 3RBEAR 20 20 12 1.67 — — — —
EFER EEER N3 3 HFE — — — 25 25 6 4.17
BERFE BERFH 3PEAR 15 15 8 1.88 = = = —
BERFE BUERFR S 3 HRE — — - 14 14 3 4.67
EEFH BEEEFER IR 1 HRE — = = 5 5 2 2.50
EREFE EESUEER NEE1IHBA 17 17 10 1.70 — — — —
EEEH EEXMEFER IRBEAR 13 13 10 1.30 — — — —
EFFEE JO—NILRAET71 —XFER 3PEAR 11 11 6 1.83 — — - —
EREEEH JO0-NILREZT1—XZER ECE - ¢ it — — = 6 6 2 3.00
FIRIEB TR HUE - ERAI PR BT 3IRER — — — 9 9 2 4.50
FIRE TR HUE - 1EWA PR BFBERAN 7 7 2 3.50 — — — —
FIREBTHE HEEBRA T 7R BT IRBEHE — — — 6 6 1 6.00
Tl LA FEERIMA T+ 7 R12 HEEHRAR 6 6 1 6.00 = = = —
FIRIETFE BFIERBERE ET3IRER — — — 8 8 1 8.00
FIRETFE BFIERBEFRE BFERAR 8 8 4 2.00 — — — —
FIRETRE MRIY - ORTs oXFE |(BI3RER — — — 8 8 1 8.00
HIRE TR I - ORT IR |BEERAR 7 7 2 3.50 — — — —
FImETEE ISR FERE ET3IRER - - - 8 8 2 4.00
FTIRIETFE SR FRE HEEHRAR 3 3 3 1.00 = = — —
FIRIETFE RIBERTFRE ET3IRER - — - 4 4 2 2.00
FTIREBTFE RIBERTIFFE BEEHRAN 5 5 4 1.25 — — — —
HE|FE HERFR 3RBEAR 14 14 3 4,67 — — — —
HEFE HRFH N3 3 HHE = — - 13 13 4 3.25
HARFE JIaZT70IRXPAVRER 3RBAN 9 9 2 4.50 — — — —
HEFE JIa=FoIRIXYEER |XRI3HRE — = — 10 10 3 3.33
HE|FE RAEHEER IRBEAR 5 5 3 1.67 — — — —
HEFE RARUEER N 3 A — — - 5 5 2 2.50
BRI EYEmRER BF 2 HHE — — — 6 6 2 3.00
B EEmRER IRBEAR 4 4 3 1.33 - — — —
B BREYHER BEF2HHE — - — 7 7 3 2.33
BEH HREVRFRE IRBEAR 6 6 3 2.00 — — — —
BEH \|RREFR B 2HRE — - — 3 3 2 1.50
B \BRREFR IRBEAR 3 3 2 1.50 — — — —
EFEH BHEXRIITLEH BF2HME - — - 10 10 4 2.50
BRI BEBRESZTLER IREAR 8 8 6 1.33 — — — -
AT HAREUFER N 2 HFE — - — 1 1 1 1.00
REAAFES HAEUFER 2RBAR 2 2 2 1.00 — — — —
Bt 338 338 150 283 283 102




	共通テスト後期追加Ⅲ期含む

